@ Indian School Sohar
Class: |
Sub: Mathematics

Evaluation Test - | (2024-25)
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Remark:

Teacher’s Sign:

Duration: 7:45 a.m. to 9:00 a.m.
Max. Marks- 20

Marks obtained:

20
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Name: Class & Sec:

Date: 27.05.2024 Roll No:
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(This question paper consists of 3 printed pages.)
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I. Write the number names for the given numbers: (Y2 x 4 = 2 marks)
a.12 - b. 17 -
c.8- d. 20 -

I1. Count and write the missing numbers:

Q1. Forward counting-

(Y2 x 4 = 2 marks)

16 19

20

Q2. Backward counting-

13 12

I11. Fill in the box with correct number:

a.20= tens

b. 5 ones =

c. 10 ones =

d. 1 ten and 2 ones =

(Y2 x 4 = 2 marks)
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IV. Write the number that comes: (2 x 6 = 3 marks)

Q1. after Q2. before Q3. between
7 10 3 5
19 15 12 14
V. Count the flowers and circle the correct number: (2% 2 =1 mark)

V1. Q1. Rewrite the given numbers in ascending order: (Y2 x 2 =1 mark)

a. 15 5 4 14 Ans-

b. | 11 1 10 | 12 Ans-

Q2. Rewrite the given numbers in descending order: (2 x 2 =1 mark)
a.| 2 9 1 13 Ans-
b.| 18 | 15 | 14 | 17 Ans-
VI1I. Write the numerals for the given humber names: (Y2 x 2 =1 mark)
a. Eleven - b. Six -
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VI1I1. Write the number shown by the given abacus: (Y2 x 2 =1 mark)

a. b.
T @
IX. Q1. Colour the smallest number with green colour: (%2 x 3 = 1% marks)
a.l 6 |16 | 7 b.| 13| 12 | 14 c.|11 ] 19 | 18
Q2. Colour the greater number with blue colour: (%2 x 3 = 1% marks)
a6 |7 0.1 15 | 12 ¢ |18 10
X. Fill the box with >, < Or = sign: (%2 x 4 =2 marks)
a. 19 20 b. 17 13 c. 10 10 d. 15 5
XI. Draw beads on the abacus for the given number: (%2 x 2 =1 mark)
10 6
a b.
T O T O
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